8. HANMKAFITEMERIZIT
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1. BE: REm=30kg
B 1% D1=(300 mm
2. EY): 8 m2=40kg
H 12 D2=0200 mm
3. B n2<20rmin (EEE)
4. MIERATE: 11<0.25
5. HhAE: REFE r=30mm
B RE =01
6. SEEHEL: 1322
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Mgk 1= M 1300

N2%i3 = 20%2 =32.5 (HMVHIFEEIE n1=1300r/min)

EERBELL RS, B i2=36

2. BEEREFEEM

BERAHESE: M=y x (ml+m2) XgXxr
=0.1 X (30+40) % 9.8 X 0.03=2.06 N - m

3. fnIE A HFEAE M2
1) REEERE I3

m1D1*_ 30x0.3"

_ L m?
8 8 =0.34kg - m

EEEERE =

m2D2° _ 40x0.2°
8 8

BYENRE 2= =0.2kg - m’

P ENIRE J3=J1+J2=0.34+0.2=0.54 kg - m’
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2) AHAB/MEE O :

. \ R . _2nxn2 _ 2nx20 _ 2
AHAMEE: d= S0t = 5000 =10.47 rad/s

3) MIERMAEEFEFE M2
IR ER M : M2=J3Xx O =0.54%x10.47=5.65N - m

HEMmESAHEEMS
M3=M1+M2=2.06+5.65=7.71N-m

FRLATLIRL R AL L v SR R AE M4

_ M3xfc  7.71x15 _
Md=—an = 2x0g = BNm

fc &R 1.5~2; BUERIKEN =0.8
LS R M5

M5=M4+i2=7.23+36=0.2N - m

AT P:

M5xn1 0.2x1300
P = 955 = 955 =27.23W

AR ARASRMEEN, RAMBTENEENIIEREERN0.7 4,
HUBER B RV INK 1+0.7=1.43(F.

EIWCR A =40 220V ARE AL, BB TSRS
R R AT BY

AP =>27.23W, i2=36, M4 >723N-m

BFE GREBEX[2] P29 TUEAM

R o E— HEP>21.23W
WL 1:36 90YS40GY22+90GK36H
Elak = 2 oy [ | FE—— FFEM >7.23N - m

BIUCRA =48 220V #rofmal, RRELMBEEH

Rip e Srkitl

& «ZEBR[2]Y P268 LTINS
A025 35 4732

BFEIR: EAE220V

B EE: =4E220V,

Fid =48 220V #rof AL T
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